
 5 

 1
50

 
 1

50
 

 3
42

 

 244 

8xM8 16

 5
 

 2
0 

 57  120  57 

8 x  M5  16

 4
0 

 0 

 32 

 64 

 32 

 64 

 96 

 128 

 160 

 192 

 250 

 92 

 0
 

 2
6 

 3
2 

 6
4 

 9
6 

 1
28

 

 1
60

 

 2
18

 

A

G1/8

 5
7 

 5
0 

 2
8 

 2
8 

 17 
 79 

 95 

 44 
4 x  M5  16

 34 
 32 

 64 

B

 50  57 

 37  170 

 1
3 

 5
0 

5 x  M10  15

 5
0 

 M10  12

 7
9  9
5 

 18 

 8
0 

 M8  16

 49  50 

 1
2 

 7
3 

4 x  M8  16

View A
 54  50 

 1
45

 
 4

2 

 51  52 

4 x  M5  12

 1
56

 
 4

0 

 45  180 

 5
2 

 160 

 2
70

 

4 x  M8  16

View B

G1/8

序号 代号 名称 数量 材料 单重 总重 备注 物料编码

87 PZ2H10A-2012 三联气缸 2 6063-T5 0.29 0.59  H02120000015

86 检测位置标牌 磁性开关检测位置标牌 8 0.00 0.00  H04040600197

85 M6×20  GB/T 70.3-2000 内六角沉头螺钉 1 0.00 0.00 050226015

84 PZ1H10A-2016 垫圈 1 45 0.01 0.01  H02110000006

83 PZ2H10A-2014 主齿轮（右旋，48齿） 1 8620H 0.03 0.03  H02130000011

82 GDF60-3Z/2.2 电机 1 13.0
0

13.0
0

 
2.2KW H01050000172

81 PZ2H10A-2018 过渡齿（左旋，32齿） 2 8620H 0.02 0.03  H02130000013

80 PZ2H10A-2017 过渡齿（右旋，43齿） 1 8620H 0.03 0.03  H02130000012

79 PZ2H10A-2013 过渡齿（左旋，43齿） 1 8620H 0.03 0.03  H02130000010

78 M5×35  GB/T 70.1-2000 内六角圆柱头螺钉 2 0.00 0.00 H04010200141

77 PZ5H10A-2014 分油块 1 6061-T6 0.11 0.11  H02110000026

76 PZ2H10A-2010 气缸闷盖 5 6061-T6 0.02 0.11  H02120000013

75 EQTC4-G01 单向快排阀 26 0.03 0.65  
阿摩司 050226028

74 PZ2H10A-2009 缓冲垫 26 丁腈橡胶 0.00 0.05  H02120000012

73 26.5X1.8 GB/T3452.1 O型橡胶密封圈 31 0.00 0.00  H04011400089

72 PZ2H10A-2008 圆气缸盖 26 6061-T6 0.03 0.88  H02120000011

71 PZ4H10A-2005 两联气缸 2 6063-T5 0.19 0.39  H02120000019

70 M6×150  GB/T 70.1-
2000 内六角圆柱头螺钉 22 0.00 0.00 H04010200225

69 6 JB/ZQ 4340-2006 蝶形垫圈 22 0.00 0.00 050226019

68 6×22  GB/T 119.2-2000 圆柱销 A型 18 0.00 0.00 H04010600003

67 PZ2H10A-2016 三联气缸 7 6063-T5 0.29 2.06  H02120000016

66 PZ5H10A-2021 短支撑杆 4 40Cr 0.37 1.46  H02110000032

65 PZ5H10A-2020 长支撑杆 4 40Cr 0.42 1.66  H02110000031

64 15X21X3/VCW 骨架油封 14 0.00 0.00 台湾T
TO 050226023

63 PZ1H10A-2005 前端盖 14 2A12 0.01 0.11  H02110000003

62 PZ1H10A-2006 弹性卡圈 14 65Mn 0.00 0.00  H02110000004

61 M5×12 左牙  GB/T 
70.1-2000 内六角圆柱头螺钉 2 0.00 0.00 H04010200037

60 PZ5H10A-2007 弧齿锥齿轮（反转带刻线
） 2 8620H 0.00 0.00 H02130000016

59 PZ5H10A-2010 水平钻刀杆（正转不带刻
线） 2 40Cr 0.07 0.14  H02130000019

58 D26 JB/T 7590-2005 波形弹簧 4 0.00 0.00  H04011000003

57 4 JB/ZQ 4340-2006 蝶形垫圈 16 65Mn 0.00 0.00  H04010400014

56 M5×12  GB/T 70.1-2000 内六角圆柱头螺钉 2 0.00 0.00 H04010200022

55 5  GB/T 848-2002 小垫圈A级 4 0.00 0.00 H04010400013

54 16X24X4/ B248 7 VC 骨架油封 16 0.00 0.02 H04011400014

53 PZ5H10A-2024 导向套 16 45 0.06 0.91  H02120000022

52 PZ5H10A-2023 半磁环 32 磁铁 0.00 0.03  H02120000021

51 PZ5H10A-2022 推杆活塞 16 2A12 0.07 1.06  H02120000020

50 M6×6  GB/T 77-2000 内六角平端紧定螺钉 16 0.00 0.00 H04010200071

49 PZ5H10A-2006 导向杆 8 40Cr 0.35 2.78  H02130000015

48 M4×10  GB/T 70.1-2000 内六角圆柱头螺钉 16 0.00 0.00 H04010200003

47 M3×5  GB/T 77-2000 内六角平端紧定螺钉 8 0.00 0.00 H04010200226

46 PZ5H10A-2016 水平钻内端盖 4 6061-T6 0.00 0.02  H02110000027

45 PZ5H10A-2017 水平钻外端盖 4 6061-T6 0.01 0.02  H02110000028

44 M6  JB/T 7940.1-1995 直通式压注油杯 7 0.00 0.00 050226018

43 PZ5H10A-2018 外密封盖 4 6061-T6 0.00 0.00  H02110000029

42 PZ5H10A-2019 内密封盖 4 6061-T6 0.00 0.00  H02110000030

41 6803ZZ 深沟球轴承 8 0.01 0.06 H04011200179

40 3×16  GB/T 1096-1979 普通平键 A型 4  0.00 0.00 H04010800016

39 PZ5H10A-2008 弧齿锥齿轮（正转不带刻
线） 2 8620H 0.00 0.00 H02130000017

38 PZ5H10A-2009 水平钻刀杆（反转带刻线
） 2 40Cr 0.07 0.14  H02130000018

37 PZ5H10A-2015 弧齿锥齿轮 4 8620H 0.00 0.00 H02130000020

36 PZ5H10A-2004 隔套（弧齿锥齿轮用） 4 45 0.01 0.04  H02110000022

35 PZ5H10A-2005 角向花键轴 4 40Cr 0.26 1.04  H02130000014

34 3×12  GB/T 1096-1979 普通平键 A型 4  0.00 0.00 H04010800015

33 PZ5H10A-2011 隔套（水平钻刀杆用） 4 45 0.01 0.05  H02110000023

32 D28 JB/T 7590-2005 波形弹簧 4 0.00 0.00  H04011000001

31 PZ5H10A-2012 水平钻侧端盖 4 6061-T6 0.01 0.03  H02110000024

30 PZ5H10A-2013 防尘垫圈 4 尼龙6 0.00 0.00  H02110000025

29 6001ZZ 深沟球轴承 16 0.02 0.35 050226026

28 PZ5H10A-2003 轴座 4 6061-T6 
(SS) 0.35 1.38  H02110000021

27 M6×16  GB/T 70.3-2000 内六角沉头螺钉 9 0.00 0.00 050226014

26 PZ2H10A-2004 花键轴（反转带刻线） 5 40Cr 0.31 1.55  H02130000007

25 PZ2H10A-2006 齿轮轴套（左旋） 7 8620H 0.02 0.17  H02130000009

24 D32 JB/T 7590-2005 波形弹簧 14 0.00 0.00  H04011000002

23 26  GB 893.1-86 孔用弹性挡圈A型 14 0.00 0.00 050226017

22 AS568-021-N60 O型橡胶密封圈 10 0.00 0.00  050226021

21 PZ1H10A-2012 活塞内端盖 10 2A12 0.01 0.05  H02120000005

20 MYA 24X30X.2 气动密封圈 26 0.00 0.03  050226022

19 M6×16  GB/T 70.3-2000 内六角沉头螺钉 5 0.00 0.00 左旋 H04010200005

18 PZ1H10A-2011 耐磨环 26 PIFE+BRON
ZE 0.00 0.03  H02120000004

17 6000ZZ  深沟球轴承 24 0.02 0.48 050226025

16 PZ3H10A-2003 活塞（70mm） 10 2A12 0.04 0.37  H02120000009

15 PZ1H10A-2009 弹簧 26  65Mn 0.00 0.00 H02120000002

14 PZ2H10A-2003 花键轴（正转不带刻线） 5 40Cr 0.31 1.55  H02130000006

13 PZ2H10A-2011 气缸隔套 27 SUS304 0.02 0.49  H02120000014

12 6804ZZ  P5 深沟球轴承 56 0.02 0.95 050226027

11 PZ2H10A-2005 齿轮轴套（右旋） 7 8620H 0.18 1.29  H02130000008

10 PZ4H10A-2006 定位套 4 6061-T6 0.01 0.04  H02110000016

9 PZ1H10A-2007 隔垫 31 45 0.02 0.53  H02110000005

8 POC4M5-S 快速接头 6 0.00 0.01  050226010

7 G1/8 一字槽嵌入式消音器 5 0.00 0.00  H04040400049

6 8×18  GB/T 119.2-2000 圆柱销 A型 3 0.00 0.00 H04010600004

5 M12X1.5  DIN3852 带垫密封螺塞 1 0.00 0.00 H04040400050

4 M6×65  GB/T 70.1-2000 内六角圆柱头螺钉 4 0.00 0.00 H04010200006

3 M6×35  GB/T 70.1-2000 内六角圆柱头螺钉 17 0.00 0.00 050226012

2 PZ29H10A-2002 前盖 1 6061-T6 4.59 4.59  H02110000084

1 PZ29H10A-2001 箱体 1 6061-T6 13.3
1

13.3
1  H02110000083

CNC Boring Heads paramenters Motor paramenters

Vertical shaft speed 4500rpm Motor power 3HP  2.2KW

Horizontal shaft speed 4500rpm Motor voltage 220/380V

Stroke 68mm Motor rated frequency 50/60Hz

Air pressure 0.65-0.8MPa Motor rated speed 2800/3400rpm

Lubrication grease KLUBER ISOFLEX TOPAS L 32 N

Tool interface 10mm Installation depth 20mm

Note: Please connect the motor for forward rotation but not reverse rotation. The shaft 
with scribed line is reverse rotation, and the shaft without scribed line is forward 
rotation. Please install the drill correctly. V01

HQP-V10H4F8L

PZ29H10A

 

1 2 76543 8

874 53 621

F

E

D

C

B

AA

B

C

D

Jiangsu HQD spindle motor Co.,Ltd

E

F


	图纸1(2)
	工程图视图15
	工程图视图17
	工程图视图18
	工程图视图20
	工程图视图16
	工程图视图19
	工程图视图21


